MIAMI-DADE COUNTY, FLORIDA
MIAMIDADE :
-: METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
A. E. Mason Ltd., Corp. CONTRACTOR LICENSING SECTION
6368 N.W. 82 Ave. (305) 375-2527 FAX (305) 375-2558
Miami ,FL 33166 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 375-2908
PRODUCT CONTROL DIVISION
(305) 3752902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
Screen Enclosure
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. ﬂ/ %

ACCEPTANCE NO.: 00-0822.04
EXPIRES: 01/29/2004 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. /

Francisco J. Quintana, R.A.

Director
Miami-Dade County
APPROVED:_10/26/2000 Building Code Compliance Office

15045000 1\pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



A. E. Mason Ltd., Corporation ACCEPTANCE No. : 00-0822.04

APPROVED : 10/26/2000

EXPIRES : 01/29/2004

NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

SCOPE

This renews the Notice of Acceptance No. 97-1208.03, which was issued on January 29, 1998. It
approves an Aluminum Framed Screen Enclosure, as described in Section 2 of this Notice of
Acceptance, designed to comply with the South Florida Building Code, 1994 Edition for Miami-
Dade County, for the locations where the pressure requirements, as determined by SFBC Chapter
23, do not exceed the Design Pressure Rating values indicated in the approved drawings.

PRODUCT DESCRIPTION

This Aluminum Framed Screen Enclosure and its components shall be constructed in strict
compliance with the following documents: Drawing No. 3101 titled “AE Mason Ltd. Corp.”,
prepared by Ramms Engineering, Inc., dated December 14, 1994, last revised on June 12, 1995,
sheets 1 and 2 of 3 and dated June 6, 1995, sheet 3 of 3, all bearing the Miami-Dade County Product
Control Approval and Renewal stamps with the Notice of Acceptance numbers and approval dates
by the Miami-Dade County Product Control Division. These documents shall hereinafter be
referred to as the approved drawings.

LIMITATIONS
All permanent set components, included but not limited to embedded anchor bolts, must be
protected against corrosion, contamination and damage at all times.

INSTALLATION
This Aluminum Framed Screen Enclosure and its components shall be installed in strict compliance
with the approved drawings.

LABELING
A permanent label with the manufacturer's name or logo, city, state and the following statement:
"Miami-Dade County Product Control Approved," shall be attached to the bottom of each chair rail.

BUILDING PERMIT REQUIREMENTS
6.1 Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance.

6.1.2 Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed
installation.

6.1.3 Any other documents required by the Building Official or the South Florida Building
Code (SFBC) in order to properly evaluate the installation of this system.

el 4.

Helmy A%¥akar, P.E.- Product Control Examiner
Product Control Division
20of3




A. E. Mason Ltd., Corporation ACCEPTANCE No. : 00-0822.04

APPROVED : 10/26/2000

EXPIRES : 01/29/2004

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documents, including test-supporting data, engineering documents, are no older than eight
(8) years.

Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approved”, or as specifically stated in the
specific conditions of this Acceptance.

Renewals of Acceptance will not be considered if:

a.  There has been a change in the South Florida Building Code affecting the evaluation of this product
and the product is not in compliance with the code changes.

b.  The product is no longer the same product (identical) as the one originally approved.

¢.  If the Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product.

d.  The engineer, who originally prepared, signed and sealed the required documentation initially
submitted, is no longer practicing the engineering profession.

Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the
filing of a revision application with appropriate fee) and granted by this office.

Any of the following shall also be grounds for removal of this Acceptance:

a.  Unsatisfactory performance of this product or process.

b.  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other
purposes.

The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site
at all time. The engineer needs not reseal the copies.

Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

This Notice of Acceptance consists of pages 1, 2 and this last page 3.

END OF THIS ACCEPTANCE

Helmy A. Makar, P.E.- Product Control Examiner
Product Control Division

3of3




-

ALL OTHER COLUMNS TO REMAIN THE SAME

NOTES:

D ROOF AND SIDES SHALL BE COVERED WITH SCREEN CLOTH BEING 60% DPEN DR GREATER DNLY.
2) THE DISTING STRUCTURE MUST BE CAPABLE OF SUPPORTING THE LDADZD SCREEN ENCLOSURE.

3) HETAL STRUCTURES WITHIN 5 FT. IF SWIMMING POOLS SHALL BE GROUNDED PR NEC. 680~22

SOUTH FLORIDA BUILDING CODE

DESIGN CRITERIA:

4) ANCHORS TO CONCRETE & MASONRY SHALL BE 3/8 X 3° ANCHORS OR APPROVED EQUAL

UNLESS OTHERWISE SPECIFIED.

DEFLECTION LIMITATION:

MALLS DESIGN WIND LOAD IN & DUT =
TEST LDAD VIND IN & DUT

RODE  LIVE LOAD UP & DOWN
TEST LDAD UP & DOWN

ASCE _7-88

L/80

19.6 PSF

29.4 PSF
10.6 PSF

15.9 PSF

b oo

MIN. 8°X8° CONTINUDUS FOOTING W/ 1 #5

L o

PRODUET CONTROL D

e ‘ N RNA) 3, ' AR E RN
'NON— COASTAL ZONE ¢ ASCE 7-88 > PRODUCT RENEWE SO COREER N
ACCEPTANCENo, 00 =0 822. 0 : Pt ! \ i : :
r EXPIRATION DAT ol /2 /?,oo £ . ; i
BEAM AND COLUMN SCHEDULE ﬁf i 0l)/2.9/t0cd | aym | , | :
— ! 28 MAX i o
S1zE 1 12 TYPE MAX. BEAM SPANS AT GIVEN SPACINGS By, . e’ j : " i ;
MARK 5.0 | se¢ | 60" | 6'-6°] 7-0° | 7'-6 | &0 RO ROL DIVISION | : ST 357 MAx
Box Bm. exe .055 . 055" HOLLOW 6°-11* 6*-9* 67" €' =47 €'~3" 61 a1 m 3 WEWFICE / . : / T [_ :
Box Bm. | 2X3 | .0S5 | .0SS SNAP | 970 | 937§ 970 | 89" | 87" | 8'-4 | @'-2° 11/ 1 1/4x 1/6 DIAGONAL WiND [/ ! ’ ':' a3
Box Bm. | 2 X 4 .062 L0862 SNAP | 1276 | 12'-2* | 11°-9° | 11°-S' | 11°-2¢ | 10°-11°] 10°-8° ngéﬁgﬂss BRACING. ¢ '
S 1=
Box Bm. | 2 X 4 | .120 .055 Lap 147-37 | 13'-9° 13'-4" | 13'-0* | 12'-B* | l2'-5° | 12'-2’ o ? i
T ~1
Box Bm. | 2 X5 062 . 062 SNAP | 15 1" | 14-T | 4z 13~ | 135 13-2 12~10° — SPECIAL U — BRACKET S
27 THICK WITH \
Box Bm. | 2 X 6 130 .055 g | ager | e -7 | 17~y | 17— 16§ 3/ THRUBOLTS. ] 1/6 RADWS ROOF_BRACING LAYOUT N\, = ({)
Box Bm. | 2 X & a2 ! oLo62 SNAP | 11" | 19k 1e-g 18-F | 1710 | 17-5 17-1 3 / QS
Box Bm. | 2X7 | 130 | .ose SNAP S 22T | 21T | 210 | 20-6 | 20w1" | 197 2 PN 9
H P p I- .
Box Bm. | 2 X 7 130 .055 LAP 21~T 20-7 | 19°-¢ 1-11" | -y 178 17~1 T p @'
FUSE 3/16"x S'x (DEPTH OF P USE 3/16"x 5'x {DEPTH OF BEAV) P
Box Bm. | 2 X 7 .280° | .070 LAP 27°-1 | 26'~3* | 25--5° | 24'-9°: 24'-2° | pa-—y+| 232 - BRAC %WES ON ALl INTERIOR ROOF BRACES Wil (AN
INTERIOR SPLICE PLATES DO NOT EXIST. INTERIOR SPUCE PLATES DO NOT EXISEQ —
Box Bm. | 2X 8@ 224 072 LaP 28°'-8* | 27'-9° | 26°-11¢] 26°-3*{ 25'-7° | 25'-0¢| 24°-6* . p i e
Box Bm. | 2X 8 224 .082 Lap 200" | -7 | 27-% | 26-7 | 251" | 254 | 240 SNAP BZAM \/" RADIUS \ i I \i
Box Bm. | 2X 9 224 072 LAP 31°-5 30°-5° | 29°-3"; 28'-1°! 27'~1* 26-2* | 25'~4* ST I 5'*—;; —_J\ ?‘ Q: ::‘

F H 1 i
BoxBm. | 2x9 | .320 | ..082 LAP 34-37 | 33'-3* ! 32°-3° | 31°-5°§ 30'-c | 30'~0¢] 29'~4r u% + ) . 11/8x 1 1/€x 1/8 DIAGONAL w% & a
Box Bm | 2x10 | 360 | .o92 we | w7 | 374 [ 364 | 354 | 3ek | s3& | sio o i ‘J&J &5/ 1 - BRACING. n s B

¢ PURLIN TABLE HEAVY LINE INDICATES MAXIMUM SPAN FOR & GUTTER *Z BRACKET.  NO LMT TO S GUTTER BRACKET. v | THIS MEMBER IS TO BE USED o é 3]

] 2x2 .055 .055 HOLLOV ~ MAXIMUM SPAN = 7~ @ AS PURLIN AND CHAIRRAL® ] SPECIAL_U-BRACKET v _r‘\l‘(" FOR ALL ROOF BRAGING. A 5 é.ki

Yia2x3 ! .055 . 055 HOLLOV  MAXIMUM SPAN = 8'- ¢° AS PURLIN AND CHAIRRAIL & . D g ¢ B,

; e -2 25 —~ BOX BEAM ! 3/1€ PLATE OR ANGLE - [3)
NOTE: MAXIMUM SPACING DF PURLINS = B4°. MAXIMUM AREA IN ANY PANEL = 56 SQ, FT. o5 | —— | — By | wdkon. £10 X 1 12 sws
MAXIMUM SPACING OF 2X2 CHAIRRALS = 607 AVG. & 27| ! '—r‘— /% ExcH SIoE OF coLum
MAXIMUM SPACING OF 3X2 CHAIRRALS = 7Z° AVG.  SPANS SHOWN ABOVE ARE CLEAR SPANS. 4 MAY BE ADDED TO EACH SPAN SHOWN. \ Z| i 2 EACH SIDE OF COLUMN.
! L T = [ PLACED INTERNALLY.
. . MAX, MN AT GIVEN SPACINGS \ 1
MARK SIZE T1 T2 TYPE X. COLU ;\‘ HEIGHTS 1 ' %ﬁ‘ 90° u—amcm;n.w BE USED o0
oy —gr gy —ge e gi-g* e - ¥ PROPERLY POSITIONED. |
A A Ko o 0 S W = &0 LAP-BZAM CORNER ROOF BRACE DETAIL %_ .
Box Col.i 2 X3 . 035 055 SNAP 6'~B* 6 —€* 6727 Semgye g9 5oy so_ge . . ‘ 3
Box Col.| 2 X 4 . 062 . 062 SNAP 9-2* | 8'-8° | -4 | @-0° 7-9° | 7°-5¢ 7°-3¢ 13 2X2X1/4° STRUCTURAL ANGLES W/ H H ! !
Box Col.| 2X4 | .120 .055 LAP 11-1° | 1077° | 1037 | 98 9-4* | 9-—pr B—9* ossef E 1/4" THRUBOLTS AND 3/8x 3° ANCHORS i
Box CoL| 2x5 | 062 | .o0e2 tap | 13-4 | 12097 | 122 |11/-8° | 11--4* | 30--31° | 10'-7- s / AT EACH COLUMN.
Box Col.| 2 X6 130 .055 LAP i5-10| 15732 | 147-5¢ [ 13°-20° | 137-4* | 12/-117] 12'6° ' J USE 1/4 ANCHORS BETWEEN COLUMNS | cyz i i !
Box Col| 2 x 7 -130 . 055 SNAP | 16°=67 | 15'-9° | 15/-1* | 14-5° | 13°-11°| 13°-6c | 13°-0” 2 X 2 PURLIN ON 24 CENTERS. i ¥
Box Col.| 2 X 7 -280 -070 Lap 22°-9 | 21°-4” | 20'~9° | 20°-1° | 19°-4* | 1@°-B* | 18'-3° ‘ B UstD ! l
: —ip ; Py 3 s vy o 14 X 1" SMS MAY BE USED IN ? i
Box Col| 2X 8 224 - 082 LAP 23°-310°| 23’1’ | 22’1 21°-3 20°~5 19°-9 | 19°-2 oS5* PLACE OF THRUBOLTS. BOX COLUMN :
.
- WK NOTEs MAX SPACING DF CHAIRRAILS IS 78°  SPANS SHOWN ABOVE ARE CLEAR SPANS. & MAY BE ADDED TO EACH SPAN SHOWN 1/4°X 3 TAPCONS
: : 2 MAY BE USED AS FOLLOWS:
203 AND 2X4 NON-LOAD BEARING BOX COLUMNS MAY BE INCREASED AN ADDIONAL 10 X TO THE HEIGHTS SHOWN ABOVE. 1 X 2 PATIO ol /
I N | 2 TAPCONS FOR UP TO 12°-0° SPAN

4 TAPCONS FOR UP TO 24‘~0° SPAN.
AT EACH COLUMN. .
AND 20° DN CENTER BETWEEN COLUMNS.

[
USE 2X2X1/8” ANGLES FOR SPANS UNDER 18'.

FOR SPANS OVER 187,
4 — 2X2X1/8" BASE ANGLES

CARRY BEAM TABLE BTG STRUCTURE 7~ N ANCHOR BOLTS TO EXTEND 1 1/4" BEYOND
4 N CARRY m CHATT. DR BRICK PAVEMENT SURFACES
[ ol ™
=
CLEAR SPAN DOF HMAX SPAN DF CLEAR SPAN DF MAX, SPAN DF NOTE: COLUMNS ALONG END WALLS
2 X 6 CARRY DEAH ENCI 2 X 7 CARRY BEAM ENCLOY g ] REQUIRE DNE PAIR DF 2X2X1/8° ANGLES
10~ 0° EHAX IHUM 14'- 07 SHAXIHUM CARRY BEAM UNLESS COLUMNS ARE 2XS 0R GREATER.
12 0 *HAXTMUM 16~ 0 277+ { _Z THEN TWD PAIR DF ANGLES
| 7 < ARE REQUIRED.
14°- 0° 7 EMAX ] MUM 18- 0° 20°-1* -
e P 1/4' THRJB REPRODUCTION AND APPROVAL OF THIS PLAN OR ANY g
" pe Q- ——gye

16°- 0 234 200 1475 \ z"“:/}"‘m‘”mms.rs% ¥ 7% ZX 1/8 MGIES. THEREOF FOR CONSTRUCTION OR ANY OTHER USE SHALL Wb PR
18- 0 14°-0° 22~ p° 10°-1¢ -wcxeT AS SHOWN BE DONE BY RAMMS ENGINEERING, INC.

EMAXIMUM SPAN

SHOWN IN BEAX TABLE ABOVE.

THIS PLAN IS

A MAY BE USED AS SHOWN

IN PLACE OF 2 ~ 1/4" ANGLES

. DN COLUMNS SUPPORTING BEAMS.

.

WHEN USING 4 ANGLES, 1/4°X 3° ANCHORS MAY BE USED.

INVALID UNLESS SIGNED AND SEALED

ROBERT S. MONSOUR FOR EACH SUBMITTAL

RPPROVED AS COMPLYING WiTH THE
SOUTH FLORIDA BUILDING CODE

Y

ONTRO( DlViSi@

BUILDING CODE_COMPLIANTE QFFICE
ACCEPTANGE NG - =

2100 W, 76m STREET, SUNTE 311
HALEAM, FLORDA 35018

RAMMS ENGINEERING, INC.

&

o

Oy
g<x
— &7
o 5
Oz._r‘
N “'g
S 23
=35




~

T

* )}
) ( 2X3.  , 2X5 AND 2X6 BOX BEAMS ) ] 1X2X3/16" ANGLE 10" LONG : ( ,
T, - USE 1/8 X Z°X 8 STRAPS WITH 60" b~ | AT EACH SCREEN RODF BEAM X 47X 1/8 PL /\
6 #14 SMS TOTAL. ( 3 EACH SIDE OF SPLICE ) ¥ ap 7 Boms. 0 SHS. TR TWD 1/4° THRU BOLTS WITH 4 #1% SMS AS SHOWX. %’ BOX BEAM oy
. ( 2X7, 2XB, 2X9 AND 2X10 BOX BEAMS ) i OR 4 #14 SMS —~& o TN
) ' E1/8X 2 " vakuss °o o , "Nes. L __L Bsox colums 7/ =
72¢ | USE 1/8°X T'X 12" ERAPRCWEDLE oF sPLCE ) E_° P11/ N S
| 14 §1% SMS TOTAL. s ° . N :
o~ o] H . 2X2 BRACE WITH 1/8" N H §
. i 174° THRU BOLTS PLATES EA END WITH #14 SMS ~ - ;
<~ l 3/16" X 1 1/4 STRAPS MAY BE USED vo o> STRUCTURAL GUTTER BEAM AS SHOWN. ‘H\ ?
) iN PLACE OF 2  STRAPS. \ 02 o3 3' RISER X 12° WIDE : iy
al 9 Jd | , 4 pa ALUM. RODF PANEL M i
) IRV & s 1 _ALL PLATES L | PYe
% NN P < 600 67— | s 7 COLUMN {TWD 1/4° THRU BOLTS W/ WASHERS ‘o;
= o~ 3225 ° o\° e—-—’}? gGTs PT_I;.ATTEg UTISHF'II: ?:SIAJS)ESHDU:N 4, BOX BEAM AN 2XeX1/8° ANGLE W/ #14 SMS exax1/8* ANGLES\
¥ 4 2y 3o - o
Z .o N g/% o0 BOX BEAMS AS SHOWN DN DETaIL o BOX BEAM 2'X3X1/8" ANGLE ON EACH SIDE _Fﬁa_ ﬁ?: %zf 5 ﬁcgzim 1o .
STRUCTURAL GUTT o | DOUBLE 202 WITH ____—
g - UTTER DETAIL ’ 2X2 SNAP AND 1X2 SNAP, 3/6°X 6 LAGS, )
o .11_7/3' 2' AT EA. COL. AND AT 24" O.C. - d
femg B i O 1°X2~1/2°X1/16
Xe-1/B7X1/16" \ .
& s ‘ 2X2 ROOF MEMBERS. CAVER PLATE TV )
D ; Z ' xe RNER DETAIL WITH #10 SMS.
ica "X2-1/27X1/16¢ :
8 s typ i gL CORNE A I>§1o X1 1/7 SMs. 104 " Z_ o
& | WTH §10 Sus EXTRUDED GUTTER oY D5,
i . W Eo
By § 5" BOX BEAM /o x1 1/e sus FASCIA CONNECTION FOR DOMES odz?
° 4 | Ll / END WAL SPECIAL Z BRACKET 7° LONG. z £ g '
Q - I i tpicai 27X2*X1/8°ANGLE COLUMN — L L8 GUTTERS. N (_j £z !
— g — — 9 —] WITH & #10 SMS. i CONTINUDUS 1X2 MEMBER WITH 414 X 1 1/ SUS \ ;——J”F 2
_ i IN EACH LEG DVERLAP BEAM TD CILUMN 24" 0.C. ALONG GUTTER. o KO, FASCIA ~ Tl z %\ 8=
- i ' ™~
| " . - " - AND FASTEN WITH 3 #14 SMS L:E—LW‘ _ B\
E} ) Q w 8 BOX Ak BASE ANGLES G EACH SIDE AS SHOWN, ! . \ bi Wi (J') N
% ' Zg.r__ ' MIN X 7X 1/8° USE 4 #14 SMS : , _ ¥ L § o~
NS} ! FOR 6802 & 902 BOX BEAMS ) COLUMN ‘ i
= Ewms/ 5 ° %% ey o SPECIAL Z—-BRACKET € LONG #14 x 1 /7 SMS‘ P E
= =9\ g o T 2 A END WALL POST DETAIL alfaoms AT EACH ALUMNOW RAFTER . p=m
a -
25 NG ! IN EACH LEG FASTENED TO FASCW WITH <
m ol SPECIAL Z BRACKET 7° LONG 3 5/16X I 1468 P
» - ‘z,_’fg ! 25— — Ao oy RATTER BEAM TO COLUMN CONNECTION
: 23 : ical 7Y SN iy - )
3 g 88 . P A - W3 5/16°x 37 LAGS CONTINUDUS DIVERTER i
S . 8 ; g — f”?‘ @ BOX BEAM {optional? 2xe. 1
o) o8 9 /4y 1X2 MEMBER INDICATES 3/E'X & LAGS / INDICATES 3/8°X & LAGS
2 SN Re 9" BOX BEAM 10" BOX BEAM . iy BEAH CONNECTION AT EACH BEAM LOCATION
() R AOE \ _ S/16°X 3° LAGS fi0 s M USE Z'x 7x 3/167 MNGLES  CAULK EA. LAG
& e 2 x . - X ZX 316 \/ © AT EAGH BEAM AND > WITH 3/8° LAGS TO FASCIA
| > MANSARD BOX 2¢ NOM. FASCIA ¥ e ANGLES ‘ - / J;" BOX BEAH AND 1/4” THRUBOLTS TO BEAM.
By 51 2 BEAM. SP , 1 4 ) LEe | 12 ncstasceren. |} B
4] M SPLICE DETAIL i S+l T 2 now Fascia 4t _ ] o MAX. 4" WIDE GUTTER MAY BE USED
BOX COLUMN 17 F-—J oo <. ¥\ — 7 PURBOCK a5 SHOWN ON BEAM TABLE SHEET #1 . _
U e TRy C ' ; %“—— ’ ,t "X 5X 1/8° OR 1°X TX 1/8 ( Max. LORD = 11004 ) 8" i
BOLTS : BOX BEAM E” "7 CONTINUOUS ANGLE WITH o
\ 1 an ZXLX IS v A GUTIER BRACE DETAIL O s
"W BEAM CONNECTION V/ 1/4° THRU BOLTS 2 - 410 X 1 1727 SHS : 2 5
. 7% 7x 18— USE X T'X 3/16" ANGLES AS SHOWN, . -— CBS WALL _, | CONTINUOUS 1x2 EACH PURLIN "8 < &
s T X EX R . WITH TWD 1/4° THRU BOLTS & -': 2X2 PURLINS ARSI :
. $14 X 1 1/7 Sus TWO 3/8° LAGS TO FASCIA . N d !
F 0 INTO TRUSSES AND - o '. 1 } 3 )
0P VIEV D 8 ! 14 X 7 Sus 1o #14 SMS MAY BE USED IN PLACE OF { i } M aBEE 8 % .
CONNECTIDN | ! ASCUAS. \ 1/4" THRUBOLTS = T 7} g
| / ()
TYPICAL ELEVATION : ALTERNATE 1" FASCIA WITH 2* SUB FASCIA — / SES
2X2 PURLIN axa -ur U-CHANNEL DPTIONAL - Ve
CHANEL W/ 1/4 MIN. THICKNESS
1x2 PATID %t'T STHRU X TX 3/16 ANGLE, T LONG #14 SHS AS SHOWN, . Aza%ﬂ#/&ﬁ'ssgmis W/ 1/4x 3 " ANCHORS 1/16° U CLIPS VITH
- #10 X 17 SMS
— WITH 3-1/4' THRUBOLTS TO COLUMN. I-S‘.ORGCABLE gmgcs&NDSHm P USE 3/8  ANCHORS FOR 2x7 AND GREATER BEAMS. AS SHOWN
E o . ;
- b LA BOX BEAM DETAILS #10 SHS 24° D.C. ?
(_ P 1/4 THRUBOLTS TOP AND BOTTOM
0 AS SHOWN
, > V 1/4 THRUBOLTS o1 | ]
S TOP VIEW OF (e 40 2XerX1/BIANGLE FPPROVED AS COMPLYING WiTH THE
3/16" PLATES TO REl ®’ t ) COLUMN ey . -
Box COL AT BRGEORCE  TKe BRACE T0 THE COLUMN SOUTH FLORIDA BUSLDING CODLQ5 i
B —_— ‘ and 1/4'x 3’ ANCHIRS -
v . 31/7 X € x1/8 PA DAT) i
/4" THRU BOLTS BOX COLUMN NOTE: LARGER PLATES MAY / /8 PLATES / %ﬁ_ 15t= o
BE USED IF REQUIRED. BY _7 y V/\/ ;
K — BRACE DETAILS ALTERNATE BRACE DETAILS - i WS PRODUCT CONTROL mvasson/ 7
\ BUILDING CODE COMPLIANCE OFFICE

i REPRODUCTION AND APPROVAL OF THIS PLAN OR ANY PART THEREOF  THIS PLAN IS INVAUD UNLESS SIGNED AND SEALED BY - ,V
FOR CONSTRUCTION OR ANY OTHER USE SHALL ONLY BE DONE BY ROBERT S. MONSOUR FOR EACH SUBMITTAL PORCH DETAILS. (AU AECEPTANCE NO!
\MYA

1 RAMMS ENGINEERING, INC.




ey

SPECIAL Z BRACKET 7% LONG.
4" WIDE GUTTERS ONLY.

—

A, » ) .
220' .216i

. T o0
T

#$14sMs  #12SMS  #10SMS N

3.75"
=7 ”
i 15
‘_’ 1, _—_7‘
| AL
_.7L

4" 7—BRACKET

PRODUCT RENEWED
ARCCEPTANCENG, 00 =0 8§27 - 04

6" SUPER BRACKET VITH (4) 3/8°
X 2 1/2° LAG BOLTS TO FASCIA

}

. $ 096/ 510\ EVE-BOLT VELDED cusep VITH DOVRE WUTS

1/8" ANGLE BRACKET VITH (9) #14 X 3/4" SHS TO VALL MEMBERS

s

END NON LOAD BEARING WALL SQUARE FOOTAGE

1-145 | 146-273

| 274-363 | 364-416 | 417-443 |

TOTAL NUMBER OF CABLES [N THE FRINT LIAD BEARING VALL

COMPRESSION SLEEVES
1/8’ STAINLESS STEFL CABLE

2 4 6 | 8 10
1 EA END|2 EA END|3 EA END|4 EA END|S EA END

~— IT[PRAH— QUMTITESABUVEAREFRQSMENCLDSM&
= mmENGIfEER'SSHESPECMCPLANF[RUT}ERCDNDmﬂN&
(_\ N\ USE DNE SET OF CABLES DN RETURN VALLS
/B STADNLESS STEEL CABLE — FIR SPANS OVER 16 FEET,
1/8* STAINLESS STEEL CABLE [ RALL < /8 STAINLESS STEEL CABLE
DOUBLE COMPRESSIDNSLEEVES DOUBLE COMPRESSIONSLEEVES
~ \ IX.EBUTTEH —

PRODUCT RENEWE
' ACCEPTANCENoT' - 1208.03

'a N

<

3 ASTM A-36 STEEL CLIP WITH @

Vjﬁwﬁ?ﬁ’z L TERNATE

PRODUGTCONTROL DIVISION -
BUILDING CODE COMPLIANCE OFFICE

4.825~

3/8' X 3* SLEEVE ANCHIRS TD CONCRETE DECK

THIS CLIP MAY ALSO BE USED DN SIDE OF
" (ONCRETE SLAB. MAINTAIN 2° MIN. EDGE DISTANCE

/ \ {

\

3/8" SLEEVE ANCHR

114" X 55/8" X 1/8" FLAT BAR

CAGLE BRACING DETAIL

1.088

2.047

1.611

6" SUPER BRACKET VITH (4) 3/8°
X 2 1/2' LAG BOLTS TD FASCIA

)\I

4.866

FASTEN SUPER GUTTER.TH
THE HOST STRUCTURE WITH
/4'x 2 1/2* LAGS 20° 0L

2 X 3' X /4" ANGLE @ EACH SIDE OF RDOF BEAM
VITH (4) $14 X 3/4* SMS TO RODF BEAM AND @ 3/8'
X 8° LAG BOLTS & (3) #14 X 1" SMS TO GUTTER

RODF BEAM

|

-~
~

NOTE: WHEN 1x2 PERIMETER MEMBER IS USED, USE 2 SETS {F 1/4* ANGLES.

APPROVED AS COMPLYING WITH THE
$OUTH FLORIDA BUILDING CODE _ __

bAT 195
BY v A/

keereance N0 1S =

RAMMS ENGINEERING, INC.

REVISIONS g7

2100 W. 7&th STREET, SUITE 314
HWLEAH, FLORIDA 33018

E£B Q006024

AE Mason Ltd. Corp.
6368 NW 82 Ave
Miami, FL 33166

X R
baffuct controt D!ViS&V
buiiDika CODE_COMPL 'clE OFFICE

JUNE 6, 1995

ona



